A. [image: ]Label A-G.  What type of cell is it? (2 answers)





B.  These nerve cells are specialized cells in order to carry electrical messages through the body.  How do cells become specialized and different even though every cell in your body has the exact same DNA?
[image: ]



[bookmark: _GoBack]C.	What type of cell is this ? 2 answers		D.  What organelle is shown below? 
[image: http://www.visualphotos.com/photo/1x6058497/coloured_sem_of_mitochondrion_from_intestinal_cell_g465049.jpg]Name the 4 structures it shares with every other cell.	      What is its function?
[image: procaryote1]	




E. [image: Image result for chloroplast]
What is the structure above?  What is its function?





F.  What type of cell is below (2 answers)?  What is the function of the ER?  Golgi body?  Lysosome?  Ribosomes?  Nucleus?  What does NOT have compared to a plant cell?
[image: Image result for animal cell]
G.  
	Part
	Prokaryotic
	Eukaryotic
	Plant
	Animal

	Nucleus
	
	YES
	YES
	

	Cell membrane
	YES
	
	YES
	

	Cell Wall
	
	SOME
	
	NO

	Organelles
	NO
	
	
	

	Ribosomes
	
	YES
	
	YES

	Mitochondria
	
	YES
	YES
	

	Cytoplasm
	YES
	
	
	

	DNA
	
	
	YES
	YES

	Chloroplast
	
	SOME
	
	NO

	Large Vacuole
	
	SOME
	
	

	Cell Wall
	
	SOME
	YES
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18 An_organism with chitinons appendazes and
Malpighian tubules most Tikely climinates cor-
bon dioxide through
1 spiracles 3 antennae
2 nephrdia 1 tentacles

19 The diagram below represents an fmpulse path
way.

Nerve gas interfercs with the action of an
enryme that breaks down acetylcholine. This
process allows the acetyicholine to remain i 4
symapse almost indefinitely. At which location
does this inhibiting effect of the nerve gas oceur?
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20 Which structures invobved in locomotion are
represcted in the cartoon below?

J:

Searen vt

20 A change in the external environment that
fniiates s impulse i known o5 4

Jee— 3 stimulus
2 response. 4 receptor

22 Plants produce substances that regulte their
growth patterns These substances are known as
1 pigments
2 asins

3 tropisms
4 nerotransmitters

23 The process of peristalsis is best deseribed s the.
1 lossof water from vascolar pla
2 teleasc of acid nto the stomack
3 chemical breakdown of fond i the sl
intestine
4 muscular contractions of the gustrointestinal
tract

24 The exchange of materials hetween blood and
intercelular fuid accus throvgh the walls of

1 capillaies
2 lymph vessels

3 anteries
4 veins

25 Which part of the human respiratory system is &
thin, moit. membranovs structure where.gas
exchunge ocenrs?

1 trachea
2 bronchus

3 epiglttis
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